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Sr Questions Answers Choice

1 TCP uses _______ mechanism to control the flow of data.
A. door
B. window
C. acknowledgment
D. retransmission

2 A computer needs a complete stack of protocols to run either a client or a server.
A. True
B. False
C. Not Sure

3 Reconstruction of original datagram is called reassembly.
A. True
B. False
C. Not Sure

4
In which method of Address Resolution Protocol the protocol address independent of
hardware address? Were "T" stands for Table lookup, "C" for Closed-form Computation and
"D" for Data Exchange?

A. T, C
B. D
C. C
D. T, D

5 The term self-identifying is used for Classful IP addresses because the class of the address
can be computed from the address__________.

A. itself
B. prefix
C. suffix
D. mask

6
In the 1970s large organizations began to acquire multiple networks. Each network in the
organization formed island. Employees needed to choose a computer appropriate for each
task. So they needed multiple screens, keyboards and computers.

A. False
B. True
C. Not Sure

7 A computer attached to a given network can only communicate with other computers
attached to the same network. Is this a problem with multiple networks?

A. True
B. False
C. Not Sure

8 Address mask defines how many bits of address are in suffix
A. True
B. False
C. Not Sure

9 Although message exchange can be used to bind addresses, sending a request for each
binding is hopelessly inefficient.

A. True
B. False
C. Not Sure

10 NEXT HEADER field in the base header defines type of header and it appears at end of
fixed-size base header.

A. True
B. False
C. Not Sure


